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2010E & 20A LEHSIH B EX ~ SEAEH
2N 2EEFY
M AUs S8 24 (BEES /Mot E - +E)
Sl BESYxaae] (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
- =rshn; 373,809,920 286,850,091 86,959,829
= 281,735,930
z 58,007,000
< 34,066,990
HUs S8tE X4 (SHBS /M6t - ) 88,223,738 70,180,441 18,043,297
= 15,001,048
z 58,007,000
== 15,215,690
=g RN gl 15,608,600 6,496,500 9,112,100
= 14,253,000
< 1,355,600
MEHSI M S RAALS 13,700,000 5,120,000 8,580,000
= 12,617,000
< 1,083,000
403 XX SHHSKA=201H 13,700,000 5,120,000 8,580,000
= 12,617,000
< 1,083,000
01 MXISHAEEX 13,700,000 5,120,000 8,580,000
OMEIGHE S22 ALY 13,700,000
=2 12,617,000
[==4 1,083,000
QSIHARH|IE S M2 A 1,792,000 1,308,000 484,000
= 1,600,000
< 192,000
403 XX SHHSKA=201H 1,792,000 1,308,000 484,000
= 1,600,000
< 192,000
01 MXISHAEEX 1,792,000 1,308,000 484,000
CUGIHAZSH S M2 AN 1,792,000
= 1,600,000
= 192,000
MAHSoY A 18,000 16,000 2,000
303 EZAZ 8,000 6,000 2,000
01 Z&2 8,000 6,000 2,000
O2220| 2L S IHAIA 8,000
307 QI2t0IA 10,000 10,000 0
04 QItHAIE X 10,000 10,000 0
OMAISSIL DS A 10,000
e e e = E=E=F 62,600 52,500 10,100
201 L] 29,600 14,500 15,100
01 AFR22|H] 20,000 14,500 5,500
OgetsgH| 7,400
OMREEIFULRAUZMES 5,000
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OnsczsdIt=E2 2,400
IRy 3,000
O BHZOINEBRIS L LAY 3,000
OYxs 9,600
OdsZdHidRSa 2| I Xt 9,600
02 2222t 9,600 0 9,600
CIXt e B 9,600
OxXEssMU 9,600
202 (4 28,000 33,000 A5,000
01 =2l 28,000 33,000 25,000
OZ34A4 T LRET0Y) 28,000
203 PR =&l 5,000 5,000 0
03 AEBFAPRF=EH| 5,000 5,000 0
WEE-ER S e e 5,000
ol M D] HIAIY 36,000 0 36,000
= 36,000
403 XMXISHMHS A0 36,000 0 36,000
= 36,000
01 AXESHMA2EE 36,000 0 36,000
Ot A Y DI & SHALS 36,000
= 36,000
ST A& 22 72,615,138 63,683,941 8,931,197
= 748,048
& 58,007,000
= 13,860,090
ALABSPAAFOX AL 92,548 89,571 2,977
= 92,548
403 NXISHHSA20I S 92,548 89,571 2,977
= 92,548
01 AXSHMA2EE 92,548 89,571 2,977
OMAE8S A FOXJ AL 92,548
= 92,548
SHESMESIHY 43,963,000 43,675,000 288,000
= 40,705,000
= 3,258,000
403 T SHEX 20| H 43,963,000 43,675,000 288,000
= 40,705,000
& 3,258,000
01 XXM Z2E X 43,963,000 43,675,000 288,000
OsHEMES LAY 43,963,000
& 40,705,000
= 3,258,000
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AAR AT AENE AL 9,862,583 1,642,800 A1,780,217
= 8,739,000
= 1,123,583
403 RHXISHSRZ0IH 9,862,563 11,642,800 ~1,780,217
= 8,739,000
= 1,123,583
01 RXISHKZEE 9,862,583 1,642,800 A1,780,217
OARR+TAILNSAL 9,862,563
=l 8,739,000
= 1,123,583
SMXI AL RO ALY 4,175,800 1,128,570 3,047,230
=l 3,700,000
= 475,800
403 RHXISHSRZ0IH 4,175,800 1,128,570 3,047,230
= 3,700,000
= 475,800
01 MXSHAZSE 4,175,800 1,128,570 3,047,230
OSAXISA LN LA 4,175,800
=l 3,700,000
= 475,800
a4 R ALY 3,400,000 2,500,000 900,000
403 RHEISHH S X201 H 3,400,000 2,500,000 900,000
01 MXSHRZ2E 3,400,000 2,500,000 900,000
OXNSALEALNLL S BDH 3,400,000
OS+RAHTYLALHM 1,268,000
SNEE=ETE 364,000
O=Z20HH (N H, 24) 1,768,000
AFE ML CHAO L 1,000,000 2,000,000 1,000,000
403 RIS HSRZ0IH 1,000,000 2,000,000 1,000,000
01 KX K= 2 1,000,000 2,000,000 1,000,000
OYFA+THAR0/A 1,000,000
DISA4EAAE JHE L BaAL &3 1,500,000 1,500,000 0
403 RHEISHH SR 20/ 1,500,000 1,500,000 0
01 MXSHIZ2E 1,500,000 1,500,000 0
=R NN EE DI PL-TE-ENPEPEPY 1,500,000
SENE H4D22 90,000 110,000 220,000
308 XHXIEHH SOl A 90,000 110,000 220,000
02 40w 90,000 110,000 220,000
BESPIPLEI =R ESmE 90,000
LTANEDRYREE 16,500 18,500 A2,000
201 Yer2o| 5,000 7,000 A2,000
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01 AtS22iHl 4,000 6,000 A2,000
O et=ZH| 4,000
OMPEERYURIASHIS 4,000
02 =234l 1,000 1,000 0
O2ZeaLHAl 1,000
OB 2454+ T3 1,000
202 Oddl 11,500 11,500 0
01 WY 11,500 11,500 0
OaEAlE 2RI YRE R0l 11,500
I ZME=g IR 2 2H B AY 271,050 19,500 251,550
= 208,500
S 62,550
403 X HMEAH=01H 271,050 19,500 251,550
= 208,500
= 62,550
01 MXISHMAZE = 271,050 19,500 251,550
COIEMELBHPRIIZAZRALY 271,050
= 208,500
= 62,550
HNASE sl HEXEH 581,100 0 581,100
= 447,000
S 134,100
403 X HMEAH=01H 581,100 0 581,100
= 447,000
= 134, 100
01 XIXISHHK 2 E 581,100 0 581,100
OdasSE2UHS =2 HE X 581,100
= 447,000
= 134,100
DEZ=AEEX 112,857 0 112,857
= 100,000
S 12,857
403 AXIHHSK=01H 112,857 0 112,857
= 100,000
= 12,857
01 MUXISMA=2E = 112,857 0 112,857
ONEH+XelAIE 4 X 112,857
= 100,000
= 12,857
S 2 UL 7,549,700 0 7,549,700
= 4,763,000
S 2,786,700
403 AXIHHSA=201H 7,549,700 0 7,549,700
= 4,763,000
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< 2,786,700
01 XIXISHH =2 =X 7,549,700 0 7,549,700
D&+ A gt 7,549,700
= 4,763,000
= 2,786,700
HPIIZANE HE(HILS/YOLE - +F) 285,534,382 216,617,850 68,916,532
2 266,734,882
= 18,799,500
StEEAla e 262,974,500 202,356,500 60,618,000
2 246,261,000
= 16,713,500
stexelZax 99,350,000 83,600,000 15,750,000
=2 87,165,000
< 12,185,000
403 RXSHSKHZ0IH 99,350,000 83,600,000 15,750,000
=2 87,165,000
= 12,185,000
01 MXSHIEEE 99,350,000 83,600,000 15,750,000
Oot+Hel =& 99,350,000
2 87,165,000
= 12,185,000
Sh I B ALY 73,512,000 46,329,000 27,183,000
= 73,512,000
403 RXSHSKH=0IH 73,512,000 46,329,000 27,183,000
= 73,512,000
01 NXSHIEES 73,512,000 46,329,000 27,183,000
(I8t 21 FH AL 73,512,000
= 73,512,000
HABOILTAE BB 18,756,000 28,892,000 ~10,136,000
=2 18,050,000
= 706,000
403 RXISHSKH=0IH 18,756,000 28,892,000 £10,136,000
=2 18,050,000
= 706,000
01 XXISHAZBE 18,756,000 28,892,000 ~10,136,000
WIEPNENS ENINPE 18,756,000
2 18,050,000
= 706,000
piCtRiol el X & 9,961,000 7,559,000 2,402,000
=2 9,082,000
= 879,000
403 RXISHSKHZ0IH 9,961,000 7,559,000 2,402,000
2 9,082,000
= 879,000
01 XXSHAZSE 9,961,000 7,559,000 2,402,000
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OHeIot=X el & 9,961,000
= 9,082,000
= 879,000

s0HE0tSot=% Fdl 15,646,000 7,049,000 8,597,000
2 14,374,000
= 1,272,000

403 A XIEHSXH=01H 15,646,000 7,049,000 8,597,000
2 14,374,000
e 1,272,000

01 AXEHMA2E X 15,646,000 7,049,000 8,597,000
OsHEOISot=Z A4 15,646,000
= 14,374,000
= 1,272,000

St=HMeld X g & 15,321,000 15,731,000 A 410,000
= 15,321,000

403 X HMEA=01H 15,321,000 15,731,000 A410,000
= 15,321,000

01 XM= E X 15,321,000 15,731,000 A410,000
Oot=xcldEsNci=o e 15,321,000
= 15,321,000

ot==2tHEA &= & 11,175,000 12,244,000 21,069,000
= 11,175,000

403 XXM SA=201H 11,175,000 12,244,000 21,069,000
= 11,175,000

01 AXIEMA=2EE 11,175,000 12,244,000 21,069,000
Cot=2HENE S &S 11,175,000
= 11,175,000

ot=2Zt HEBIAS (&HI) 950,000 930,000 20,000

403 XXM SK=01S 950,000 930,000 20,000

01 MXEMA=2EXE 950,000 930,000 20,000
Clot=2 HEHIALS 950,000

St Al 2e|PRFA 32,500 22,500 10,000

201 Yereg| 8,500 8,500 0

01 AtS 22l 7,500 7,500 0
g Et==EH| 2,500
OMNFESHLELRUASHES 2,500
O=2g=¢ 5,000
Ot 2| PR USAZ 3L LA=E 5,000

02 2234l 1,000 1,000 0
O2223ZLHA 1,000
Oset=3t& 483l 1,000

202 O4Hl 14,000 14,000 0




SN SRBHD
HM: SHHIZAE SE(SHES/M0EE - =F)
&l St AL 22 (&9 HM
SN (B) - MBEAY - B2 0l aF ol gggf; HDE2
01 2 14,000 14,000 0
Ol A 222l 228 14,000
307 QIz2tol & 10,000 0 10,000
05 212t EZ 10,000 0 10,000
OA5I+C 2RSSR 10,000
ot HBTLY HE X 2 11,141,000 0 11,141,000
= 11,141,000
403 XXISHMSK=201A 11,141,000 0 11,141,000
= 11,141,000
01 XFXIEHH X 11,141,000 0 11,141,000
o= HBTLAIZE 2 U = 11,141,000
= 11,141,000
otx=Xelx=Mol= 7,130,000 0 7,130,000
= 6,441,000
== 689,000
403 XXISHSK=201A 7,130,000 0 7,130,000
= 6,441,000
== 689, 000
01 XXESHA=2ExR 7,130,000 0 7,130,000
otx=Xel=xHolsS 7,130,000
= 6,441,000
= 689, 000
P - ER AL 22 22,559,882 14,261,350 8,298,532
= 20,473,882
== 2,086,000
JHelBt=H el Al & ALY 378,882 161,350 217,532
= 378,882
403 MXISHHS K20/ 378,882 161,350 217,532
= 378,882
01 XXESHA=2ExR 378,882 161,350 217,532
CIOH OBk =X 2l Al & A 378,882
= 378,882
s delAEAY 2,626,000 2,382,000 244,000
= 2,626,000
403 NXISHHS K201 2,626,000 2,382,000 244,000
= 2,626,000
01 AXIESHA=2EER 2,626,000 2,382,000 244,000
SEXElAIEAS 2,626,000
= 2,626,000
IEELE23MHEAIEE XA 18,781,000 10,984,000 7,797,000
= 17,469,000
& 1,312,000
403 NXISHHS K20l 18,781,000 10,984,000 7,797,000
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= 17,469,000
= 1,312,000
01 RXISAA=RE 8,781,000 10,984,000 7,797,000
O S2LZBH AL LAY 18,781,000
2 17,469,000
= 1,312,000
TEFHIA HAAY 774,000 734,000 40,000
403 XS HSKZ0IH 774,000 734,000 40,000
01 XLXIEHAI A2 & 774,000 734,000 40,000
OSE3 2N EA 774,000
HZS AL (SR SH D) (JIEHIIE) 51,800 51,800 0
YR 51,800 51,800 0
ol & 51,800 51,800 0
201 Yere | 25,300 25,300 0
01 Ar2Z2lt] 25,300 25,300 0
mEEER=1 16,300
OANREESAZARETY 13,300
O+ EBHABAYNERAS 3,000
BEET] 9,000
O+ EENYLEAZ A 9,000
202 04t 26,500 26,500 0
01 2LHoitI 26,500 26,500 0
SEPHY MBS EAL T T O] 26,500




